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1. E_R1HO"OeeNQ,T+i+FE_7F$kM)R1N3HG"k#

(1) Oe hNbYG_0;rA/M)R1N~| T rO=K*1kEOC.Y g"OeN>BR"ZS

hG=;#

(2) E_R1NOe+iNbYO? km+? "7" g = 9.8m/s2, R = 6.4× 106mH9k#

(3) O=+iGAe2?R1,E_R1HJk?aKO"GAe2.YO? km/s+? "7"O=r%

l?eO"R1KOOeKhkEON_,//bNH9k#

2. PMjt kNPMKALmNA@,D1ilF$k#Dj"$NLV+iNA@NQLr x".Y

r vH9kH-"A@KO|5O−kxHq3−mγv,//#

(1) ~o t = 0 K*$F x(0) = x0, v(0) = v0 H9kH-~o tK*1k x(t) raah#

(2) 5iK0O Fext(t) = F0 cosωtrC(?H-N x(t) raah#

(3) (2) G γ = 0" ω =
√

k
m NH-N x(t) raah#

(4) (3) Gaa? x(t) r tr#4" xrD4Khj^(7"=N*}*U#rb@;h#

3. ‘$NJ$yNeN.jrLk=,K9$eG"k5l?ALmN 2 DNA@NOrM(k#~o

t = 0 K*$FyNeNeN95, r0 G"yNeNA@N.YO v0 GeKb>G"kH9k#

(1) yNeNA@,_?0r9k?aNroraah#

(2) ~o tK*1kyNeNA@NLV,.jr6@H9kKB8G (r, θ) H=5lkH7F"Q?0

L]8ZS(Mk.<]8NX80rq1#

(3) (2) hjyNeNeN95NQ=9kOOraah#
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